1. Suppose f(x, y) has values and partial derivatives as in the table at right. Find all the critical points you can
from the given data and classify them into local mins, local maxes, and saddles. (3 points)
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2. Find an equation of the tangent plane to the surface defined by 3x2 + xy +2yz = 8 at the point (1,1,2).
(3 points) N

fix,y,2)
S&Lfﬁﬁaw Y 7[; Y amdd "
f= (Guey, 0022, 24)
So Tha ﬂovmd o tlu “L@\ﬂ.ém?f })iawﬁ, 'S
=< Lz)= (#,5,2)
Thus +te v for fru plane is

0= 7o (txy2)-(1,1,2)) = F(x- )7‘5/5 -1+ "3)
= Fx+3y+lz =[G
Bquation: | Z |x+| § |y |2=| /¢




3. Let f(x,y) = xy+ 1. Let C be the curve defined by x? + 4y? = 8.

(a) Find the maximum value M and minimum value m achieved by f(x, y) on the curve C. (5 points)
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(c) What two properties does the curve C have that guarantee f(x, y) has absolute maximum and minimum

values on C? (1 point each)
Closed bounded




4. Consider the space curve C parameterized by

() = (cost, V2sint,cost) for0<t<2m.
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(a) Mark the correct sketch of C below: (2 point?i
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(b) Evaluate the line integal fc (yz+1)ds. (5 points)
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5. Consider the vector field F= (x -y, ¥).

(a) Mark the picture of F below: (2 points)
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(b) Consider the curve C parameterized by r(z) = (£2,1) for 0 < ¢ < 1. Compute f F-dr. (4points)
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7.(a) Consider the vector field F(x, y) = ( 2,1+ 2xy) on R2. Show that F is conservative by finding a function

f(x,y) where E=Vf. (3 points)
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(b) For the curve C shown at right, evaluate f F-dr. (2points)
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(c) Exactly one of the vector fields below is not conservative. Mark the box of the non-conservative vector
field. (2 point)
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8. Consider the function f: R? — R given by the contour diagram at right, as well as the curve C, the point A,
and the vectors u and v indicated. For each part, circle the best answer. (1 point each)

(@) The sign of Dy f(4).

negative ('zero ) positive
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(b) Vf(A) =v.
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(c) The value of f flx,y)ds.
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9. Let g: R? — R be the function whose graph is shown at right, and let C be the indicated curve in the xy-
plane. Evaluate the line integral f Vg-dr. (2points)
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